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mal: FWA Q= Jpoly oTet PE
SCHRNEES TR (crol: m2)
SA - B S9(SH) - NIRAY - BES o ar o HIDS2
RIPETE e 13,084,669 12,676,362 408,307
| 58,000 58,000 0
= 1,646,003 1,565,300 80,703
=z 11,380,666 11,053,062 307,604
M2 = 2N oITat S 2,743,178 12,532,462 210,716
o] 58,000 58,000 0
= 1,646,003 1,565,300 80,703
2 1,089, 175 10,909, 162 130,013
Olator 2 E B 25t 1,756,640 1,689,640 67,000
= 315,000 315,000 0
2 1,441,640 1,374,640 67,000
ESAESTIZI(KH) 203,040 198,040 5,000
101 21218 70,220 65,220 5,000
VBIENEES=T=P 70,220 65,220 5,000
OOIHGIRA JRAMIEX XS
5,000,002 141 5,000 0 5,000
SEABET L AIISHIH) 921,500 859,500 62,000
201 Yer2ey| 105,500 9,500 2,000
01 AfR 22l 102,500 90,500 12,000
OHIHQIASE RIATHAR(ME, CIRtQl, S
5 S) 12,000, 00024141 12,000 0 12,000
T EEST] 50,000 0 50,000
01 A& 50,000 0 50,000
OK-INSAN ZE 2 &3 50,000, 000! %14 50,000 0 50,000
Ol AHOF E IR 2,889,498 2,889,498 0
SUOINURNATER 2% (M) 2,889,498 2,889,498 0
306 2013 2,889,498 2,889,498 0
EEE] 2,889,498 2,889,498 0
030N EESEH
550,000, 0002 %141 550,000 460,000 100,000
03401 SRS Y3
300,000,000 %14] 300,000 400,000 £100,000
NS T e T 2,965, 2,821,516 143,716
= 510,803 430,000 80,803
2 2,454,429 2,391,516 62,913
HEAIE MBS (SH]) (HEA) 25,506 0 25,506
< 80,803 0 80,803
z 44,793 0 44,793
402 QIHRH0IH 105,59 0 125,596
= 80,803 0 80,803
2 44,793 0 44,793
02 SIZHAH= AL 2 X (OIR THR) 125.5%6 0 125,50
OSA4A4HE XSBY DH
32,310,002 %141 3,310 0 3,310
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i JHH A= =AY elmet 25
= NEVAPS P B== Hcp. == ] (EEEE))
SA B O9I(SH) - MRALY - BAS o v o ® o RS2
< 21,540 21,540
s 10,770 10,770
OSLIY AR SS3EA Szt
43,929,000 %14 43,929 43,929
S 26,358 0 26,358
= 17,571 0 17,571
OSUAZAE LS WA
49,357,000 14 49,357 0 49,357
= 32,905 0 32,905
s 16,452 0 16,452
HEAE L AFI 245t XA (XHA) 18,120 0 18,120
307 212t01™ 18,120 0 18,120
02 QI HAANEE X 18,120 0 18,120
OSat=aHE AIZZ LTI XIJ (201
) 18,120,000 x 14 18,120 0 18,120
SAIA AIAISHARY (KHKI) 370,000 370,000 0
202 044l 70,000 50,000 20,000
03 =220 70,000 50,000 20,000
Odiel S2E0PIE g% =X (2 2A0HI)
3,500,000& x4 & #52] 70,000 50,000 20,000
301 LtENZ 0 20,000 /20,000
09 I =ENHI 0 20,000 220,000
Odliel E20PIE 22 FH(AP=H)-SH
= 0 20,000 220,000
CIMMIS Y & B2 JHA(KHAI) 520,000 520,000 0
308 AXIHMSO0IA 520,000 520,000 0
183 S 2S0UetE 4R ASAIE] 520,000 520,000 0
OSARIaox NS HE KIF
380,000,000 %14 380,000 300,000 80,000
OUE =2etelorl(RE) saeld SSHK
Sl 2E 20,000,000 = 14! 20,000 220,000 200,000
O&= YNE S8 M=
120,000,000 * 14! 120,000 0 120,000
HM QI EE ALY 3,933,968 3,933,968 0
Il 40,000 40,000 0
S 737,100 737,200 A100
[ia 3,156,868 3,156,768 100
olatrzxg ABM2ME LD &XI(ZHl) 143,000 143,000 0
S 42,900 43,000 2100
s 100,100 100,000 100
402 SI2ERHE201 S 143,000 143,000 0
< 42,900 43,000 A100
[ias 100,100 100,000 100
02 QIINEAISEEZ(0IETHE) 143,000 143,000 0
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